Day 5 — Right Triangle Trigonometry

Task 1. The solar collector in the picture to the right functions
at maximum efficiency when the angle of elevation formed
with the level ground is approximately 52°, and it currently is
set at that angle. The distance along the ground from the
back legs to the front legs is 5.5 feet.

A. At what height are the back legs currently set?
(Round to the nearest inch)

B. How long is the face of the collector?

C. If the back legs were to be lowered by one foot and pushed
back, how would the angle of elevation change?
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Task 2. You are building a house with a ramp. The Americans with Disabilities Act (ADA) limits the longest single

span of ramp prior to a turn platform to 30 feet. If you don't have any turns in your ramp, what do you believe is the
maximum height the base of the door could be?
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B. Let’s figure out what the actual angle is. According to the ADA, there must be 12 inches of length (run) for each
inch of rise. Knowing that, what must the angle of elevation be?
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